REVIEW CHAPTER 5 AND CHAPTER 10
SOLUTIONS
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2)(h,k)=(2,1); r=9
3) vertex: (0, 0)

focus: (-2, 0)
directrix: x = 2

4) F+E° 2y x-7)
5) 6= 1% - gy -7)

6) vertex: (-1, -2)
focus: (-1, -1.75)
directrix: y =-2.25
y
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8)4+2=1

center: (3, -7); foci: (4.4, -7), (1.6, -7); vertices: (5,
-7, (1, -7)

9) center at (-1, 2)

foci at (-1 + 3'\'{3, 2), (-1- 3'\'{3, 2)

vertices at (-7, 2), (5, 2)
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12) center at (-3, -4) 18)
transverse axis is parallel to x-axis y
vertices at (-8, -4) and (2, -4) 1
foci at (-3 - ""'IE, -4) and (-3 + ”"Iﬁ, -4) [
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asymptOtes Of y + 4 =- (X + 3) and y + 4 = (X 1 1 1 1 1 1 1 1 1 1 1 1
+3) 6 4 2 1 2 a4 6=x
13) center at (4, -3) 21
transverse axis is parallel to x-axis T
vertices at (-1, -3) and (9, -3) '4__
foci at (4- 26 3) and (4 + V26 3 61
% % domain of f: (-e¢, «); range of f:(2, )
asymptotesof y+3=- = (x-4)andy+3=  (x- horizontal asymptote: y =2
4) 19) {3}
14)y+3=(x+2)and y +3=-(x+2) 20)
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domain of f: (-eo, «); range of f: (-, 4);
horizontal asymptote: y =4



30) {9}

31) {8, -1}

32) 16

33)3 982 .7 182
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34) logb
35) 2.099
36) {128}
37) {-6.00}
38) {-5.31}
39) $24,393.53
40) $1252.91
41) 9.051%
42) 6.93 yr
43) 11.89 hours
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44) +
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45)
46) 381 rabbits



